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	Item
	The diagram below shows steps leading to a historical event.



Shays’s Rebellion
?

Which event completes the diagram?Constitutional Convention
Colonial Independence


	A
	
	Declaration of Independence

	B
	*
	Articles of Confederation 

	C
	
	Annapolis Convention

	D
	
	Whiskey Rebellion 
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	Item
	Which weakness of the Articles of Confederation led to Shays’s Rebellion?  

	A
	
	The national government lacked the power to regulate trade.

	B
	
	The national government lacked a national court system. 

	C
	
	The national government lacked central leadership. 

	D
	*
	The national government lacked the power to tax.  
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	Item
	What was the state-level response to Shays’s Rebellion?

	A
	
	Judicial protection against taxation without representation.  

	B
	
	Taxes were declared unconstitutional.

	C
	
	Executive regulation of farm trade. 

	D
	*
	Debt relief was enacted. 
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	Item
	Why was the government’s authority to regulate commerce a weakness of the Articles of Confederation?  

	A
	
	The president’s authority to collect taxes unfairly burdened the poor.

	B
	
	The national court system unfairly prosecuted trade laws.  

	C
	*
	The states’ authority to impose taxes decreased trade.

	D
	
	The legislature gave too much power to larger states.
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	Item
	The passage below is from a historical document.
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Art. II. Each state retains its sovereignty, freedom, and independence, and every power, jurisdiction, and right, which is not by this confederation expressly delegated to the United States, in Congress assembled.                                                                                             










Source:  U.S. National Archives and Records Administration

How does the U.S. Constitution address concerns that resulted from the government described in this passage?

	A
	
	The new government could enforce treaties between the states.

	B
	*
	The new government could settle disputes between the states.

	C
	
	The new government could regulate trade between the states.

	D
	
	The new government could levy taxes between the states.  
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